

### ESHAN COLLEGE OF ENGINEERING, MATHURA

Approved by All India Council for Technical Education, New Delhi (AICTE) Affiliated to Dr. A.P.J. Abdul Kalam Technical University, Uttar Pradesh

Environmental Consciousness and Sustainability:
Green campus initiatives include:
(Various policy documents/ decisions circulated for implementation)



# 7.1.2 Green campus initiatives include:

# (Various policy documents/ decisions circulated for implementation)

S. N.	Particular	Availability
1	Restricted Entry of Automobiles	<b>√</b>
2	Use of Bicycles / Battery Powered Vehicles	1
3	Pedestrian Friendly Pathways	<b>V</b>
4	Ban on Use of Plastic	<b>√</b>
5	Landscaping with Trees and Plants	√ √



### **Green Campus Policy**



### **Eshan College of Engineering**

Approved by AICTE, New Delhi and Affiliated to AKTU (Formerly UPTU) & BTE, Lucknow

#### **GREEN CAMPUS POLICY**

Eco-friendly practices and educational resources combine in a Green Campus to promote sustainable practices. It allows institution to re-define their environmental culture and develop new paradigms for solving the social. economic. and environmental problems of mankind by utilizing a Green Campus concept. To safeguard the environment within and around the campus.

#### Objectives of the Policy

- To keep the campus clean and environment friendly.
- To motivate all stake holders to ensure judicious use of scarce natural resources.
- To increase awareness among staff and students regarding different issue and possible solutions related to environment and motivate them to adopt good practices for protection of environment.
- · To frame the green policies that will enhance the ecological efficiency in the campus.
- To continually improve the efficient use of all natural resources including water and energy.
- To make sustainable efforts to make the campus plastic free and tobacco free.
- To improve resource use through reduction in material use by reducing waste and to identify recycling opportunities for west generated such as metal scrap, paper, e-waste etc.
- To conduct in house environmental and energy audits from time to time.
- To make the campus self-reliant in energy using solar energy and to make the campus net zero.
- To recycle west water and utilize it for landscape irrigation.

#### Scope of the Policy

Green Campus develops new extracurricular and co-curricular practices that allow students to take leadership roles in creating positive change. As a result of these initiatives, all infrastructural and administrative activities will be reviewed from the viewpoints of energy, efficiency, sustainability, and environment.

The focus areas of the policy are

- · Green Campus Initiatives
- Clean Campus Initiatives
- Tobacco free Campus
- Net Zero Campus
- Water Conservation Initiatives
- Waste Management Initiatives

http://eshancollege.com

28 Km. Mile Stone, Agra-Mathura Road, Farah, Distt. Mathura-281 122 (UP) Ph. +91 9639 234 234, +91 9258 011 578 E-mail : lordshiva\_trust@rediffmail.com, info@eshancollege.com



### **Plastic Ban Policy**



### **Eshan College of Engineering**

Approved by AICTE, New Delhi and Affiliated to AKTU (Formerly UPTU) & BTE, Lucknow

#### POLICY FOR PLASTIC BAN IN CAMPUS

The pollution of the environment by plastics has now been identified as a global problem. A quick-term advantage and ease of use have made plastic and plastic goods wildly popular. Plastic has grown more and more popular over the past century, outpacing trash management as a result. Our environment, as well as our health and well-being, suffer from plastic pollution. We have all contributed, consciously or unwittingly, to this issue, and we must work together to minimize and eradicate plastic pollution.

The government has chosen to implement a plastic ban on a nationwide scale in order to address the environmental dangers created by the widespread usage of plastic. Educational institutions must take the lead in this national effort. Educational institutions must take a leadership role in the fight to phase out single-use plastics.

#### Guidelines

The guideline aims to assist Indian higher education institutions in achieving a plastic-free campus. It is not intended to be comprehensive, but rather to offer basic guidelines and suggestions relevant to all institutions. The recommendations urge institutions to implement policies and practices that promote a more environmentally friendly and plastic-free campus environment.

- The institute will educate stakeholders about the need of reducing, reusing, and recycling plastic.
- All stakeholders are encouraged to reduce their reliance on plastic bags on campus.
- · Stakeholders must adhere to rigorous waste segregation guidelines.
- As far as feasible, students should recycle the resources available for creative work at college festivals.
- Conducting events and poster contests, among other things, to promote the creation of
  ecological and environmentally friendly products in order to reduce the use of single-use
  plastic.

http://eshancollege.com

28 Km. Mile Stone, Agra-Mathura Road, Farah, Distt. Mathura-281 122 (UP) Ph. +91 9639 234 234, +91 9258 011 578 E-mail : lordshiva\_trust@rediffmail.com, info@eshancollege.com





# जलाधिकार फाऊंडेशन

E-mail : jaladhikar2012@gmail.com Facebook : www.facebook.com/jaladhikar Website : www.jaladhikar.com

22/08/2017

#### To Whomsoever it May Concern

This is to acknowledge that students of Eshan College of Engineering attended the lecture on "Rain water harvesting". A Survey was also conducted to look upon the standards of procedure of rain water harvesting.

Survey conducted was upto the mark and satisfactory. We Congratulate College Management for Organizing such a Good Awareness seminar.

President Jaladhikar Foundation , Agra Unit

Corp. Off.: 202A, Arunachal Building, Barakhamba Road, New Delhi-110001 • Tel.: +91-11-41511319 Mobile: +91-9810019753, 9818731057, 9810028042, 9891771122 • CIN: U41000DL2015NPL283970



# नलाधिकार फाऊंडेशन

E-mail : jaladhikar2012@gmail.com Facebook : www.facebook.com/jaladhikar Website : www.jaladhikar.com

OF AGR 01

15/10/2018

### To Whomsoever it May Concern

This is to acknowledge that students of Eshan College of Engineering attended the lecture on "Rain water harvesting". A Survey was also conducted to look upon the standards of procedure of rain water harvesting.

Survey conducted was upto the mark and satisfactory. We Congratulate College Management for organizing such a Good Awareness seminar.

President Jaladhikar Foundation , Agra Unit

> el H elk vata

chali

Corp. Off.: 202A, Arunachal Building, Barakhamba Road, New Delhi-110001 • Tel.: +91-11-41511319 Mobile: +91-9810019753, 9818731057, 9810028042, 9891771122 • CIN: U41000DL2015NPL283970



# Green Area (Landscaping)

S. N.	Location	Length(Feet)	Width(Feet)	Area (Sq.Feet)
1	In front of College	78.4	47.5	3724
2	Near Boy's Hostel	77.5	77.5	6006.25
3	In front of Canteen	91	76	6916
4	Left side of College	66.3	41.2	2731.56
5	Back side of College	111.1	73.6	8176.96
6	In-between A & B block	39.6	20.25	801.9
7	In front of E block	57.9	67.6	3914.04
8	Behind of E block	46	19.5	897

# **Parking Area**

S. N.	Location	Length (in Feet)	Width (in Feet)	Area (Sq. Feet)
1	Main Block	403.44	21	8472.24
2	Canteen	36	13	468
3	Hostel	80	35	2800

# **Types of Plant Species**

S. N.	Species Name	Quantity
1	PEEPAL	5
2	WAKAD	27
3	GULMOHAR	11
4	KESHIYA	15
5	PAKHAR	20
6	KANJI	22
7	PAPRI	10
8	NEEM	49
9	FAKISH	25
10	KADAM	6
11	ASHOK	23
12	PLASH	3
13	SASAT	4
14	СНАМРА	23
15	ARJUN	13

S. N.	Species Name	Quantity
16	MAHUA	1
17	VOTAL VARUSH	6
18	MOR CHALLI	3
19	BOTIL MAN	2
20	TIKOMA	16
21	DULLE RAJA	4
22	ANWLA	3
23	NIBU	7
24	KARONDA	5
25	JAIWAN	10
26	KACHNAR	9
27	KHINNI	5
28	BARGAD	2
29	SHEESHAM	2
30	PANHA	22



#### Other Relevant

Notice: Proper Use of Helmet and Parking Space



# Eshan College of Engineering

Approved by AICTE, New Delhi and Affiliated to AKTU (Formerly UPTU) & BTE, Lucknow

### **Notice**

Date:24/12/2021

All concerned are hereby informed that wearing of helmet is compulsory while driving two wheelers. It is also compulsory for pillion riders.

No member of ESHAN family using two wheelers without wearing helmet will be permitted to enter the premises of the Institute. They will be required to leave their vehicles outside.

This will be strictly implemented from 1.1.2022.

Also all are advised to park their vehicles at proper place.

#### Copy to:

- Registrar
- 2. All Deans & Heads
- 3. All Faculty and Staff Members by Circulation
- 4. All Notice Board
- Security In charge

http://eshancollege.com

28 Km. Mile Stone, Agra-Mathura Road, Farah, Distt. Mathura-281 122 (UP) Ph. +91 9639 234 234, +91 9258 011 578 E-mail: lordshiva\_trust@rediffmail.com, info@eshancollege.com

28KM Mile Stone, Agra-Delhi Highway, NH-2, Farah, Mathura - 281122



# **Eshan College of Engineering**

Approved by AICTE, New Delhi and Affiliated to AKTU (Formerly UPTU) & BTE, Lucknow

#### **Notice**

Date:29/10/2020

All concerned are hereby informed that wearing of helmet is compulsory while driving two wheelers. It is also compulsory for pillion riders.

No member of ESHAN family using two wheelers without wearing helmet will be permitted to enter the premises of the Institute. They will be required to leave their vehicles outside.

This will be strictly implemented from 1.1.2021.

Also all are advised to park their vehicles at proper place.

Director

#### Copy to:

- 1. Registrar
- 2. All Deans & Heads
- 3. All Faculty and Staff Members by Circulation
- 4. All Notice Board
- 5. Security In charge

http://eshancollege.com

28 Km. Mile Stone, Agra-Mathura Road, Farah, Distt. Mathura-281 122 (UP) Ph. +91 9639 234 234, +91 9258 011 578 E-mail: lordshiva\_trust@rediffmail.com, info@eshancollege.com

